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Erratum for Physics Reports 117 (1985) 75 by H.E. Haber and G.L. Kane

10.

11.

. In eq. 1.10, replace ¢(z) with zq(x).

. In eq. 3.8, replace M, with M,.

. In the line in text above Fig. 8, replace U, — vee {177 with D, — vpe (7.
. In Fig. 14(e), replace g with ¢ .

. In Fig. 20(b), the scalar-quark exchange diagram with the final state gluino

lines crossed has been omitted.

. In the first sentence of the caption to Fig. 22, replace pp — g7 + X by

pp — gg + X. The figure itself is correctly labeled.

Below eq. 4.11, add the following: If i # j,

D(Z° = 9%9)  2AV2(m%, ME,, M2)

Y Y 2 AL AR
F(ZO — VD) = m% 12MX1MX2mZO O

H(O"P +[0") (2m — my (AL, + 0L,) — (O, — I13,)?)]

where \(z,y,2) = (v +vy — 2)? — 4oy. Note that if i = j, we must insert a

factor of % due to identical particles in the final state.

. In subsection 5.2(h), in the fourth sentence: replace ¢t with ¢t (toponium).

. In section 7.2, in the last sentence of the first paragraph, replace ep — vgX

with ep — g X.

A factor of % was omitted from eq. 8.18. The correct equation should read:

L(r" = 77) = —

dra?f20t3m, [ 432\
9M* '

In Appendix A, in eq. A33, replace U2 with W,.



12. In Appendix C, below eq. Cl1, replace vy # 2 with v; # vs. In the next

sentence, replace V; with v;.
13. Below eq. C16, replace 71 and Ts with y; and Y2 respectively.
14. In Fig. 68(c,d) insert a tilde over xj and y2 respectively.
15. In eq. C50, replace —2¢' N erép with +2¢'Negeég.
16. In eq. C52, replace —2¢'e P Bég with +2¢'é Py Bép.
17. In eq. C54, an overall minus sign is missing (i.e. replace % with —%)
18. In eq. C72, replace L 550 with Lygz0.
19. In the second line of eq. C75, replace N ;‘1 with V. j”‘l‘
20. In the last term of eq. C77, replace [e;N,] with [e;N7].

21. In eq. D26, replace MER with MEL

22. In Appendix E, eq. ET7 is incorrect as written. The correct equation should

read:

CT(1=75)" (2 — me)" (1 +95)"C71 = (1= 75) (P2 + me) (1 + 75).-

23. Eq. E9 is incorrect as written. The correct equation should read:

~ o\ 1/2 . -
do o <8—4M$> / [(t—Mg—mg)2—l—4m2M$

dQ " 2s \ s —4m? (M2 —t)2

N (u— M% —m?2)? + 4m2]\;[3 8m2]\;[3 — 25(]\;[3 + mg)]
(Mg — u)? (M — 1)(Mg —u)

24. In eqgs. E10 — E13, multiply the right hand side in each case by a factor of
2. (If one computes the total cross-section by integrating over the full 47

steradians, then a factor of % must be inserted due to identical photinos in



25.

26.

27.

28.

29.

30.

31.

the final state.) Furthermore, in eq. E12, there is a power of 2 which has

been omitted. The first term inside the square brackets should read:

~ 2
t—M%—mg
M2, —t

In eqs. E27, E30 and E31, we have employed the convention whereby a factor
of % is inserted into the differential cross section if two final state particles
are identical. However, to be consistent with the comments made above, let
us not use this convention. Then, we should multiply eqs. E27 and E31 on

the right hand side by a factor of 2. In addition eq. K30 would change to:

do 5 do do d_a

— —qq) = — — qr.q — — JpJ 2
o (qq — 49) o (9 — qrqr) + —-(qq — Grar) + o

o (qq — qrdR).

In this equation, the factor of 2 accounts for ;g + GrGr,. Now, when we
compute the total cross section, it is correct to insert the factor of % in the
expression for ‘fl—g(qq — (q) after integrating over the full 47 steradians. This
“undoes” the factor of 2 above in the proper manner.

«

In the sentence above eq. E30, it should read: “...cross section for gqg — ¢q

via gluino exchange.”
In eq. E31, all appearances of ]\NJW should be replaced with Mg.

In the sentence below eq. E31, replace “might” with “must”. Of course, if
we multiply eq. E31 by a factor of 2 as discussed above, then this expression

would agree with the corresponding formula in ref. [A.32].

The note added in proof which appears right before the list of references is

incorrectly placed. It belongs in sect. 3.6, subsection D.

In refs. [1.14], [9.6], [10.33], and [A.11], replace B185 with B188. The
correct reference is: E. Witten, Nucl. Phys. B188 (1981) 513.

Ref. [A.42] should read: T. Kobayashi and M. Kuroda, Phys. Lett. 139B
(1984) 208.



